
Subject: Brant test
Posted by Asnake Yohannes on Fri, 23 Jan 2015 15:04:25 GMT
View Forum Message <> Reply to Message

Dear,I am working on 2011 Ethiopian DHS of Women dataset. I need to run brant test to test
parallel line assumption for outcome variable that ordered in to three categories.
I run the command on STATA 13 like this:

svy: ologit outcome variable independent variables ,or
brant
output was "brant- does not work with ologit models with weights"

It works when I excluded the command svy  or

ologit outcome variable independent variables ,or
brant : works

 May I have another alternative way to run brant test by considering svyset?  Or I am looking for
any advice concerning my problem.

Kindly regards,

Asnake.
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